A< R
N

@mér*’o 3

&3 : WT_8M _3.3 _DSERT

BB DVOBY

30n3:8

QWOD: Meds

D03 29/07/2021

Pe3B T0d; T BID:3-00WD 3VFTY) Y, TeIB, B BEBTENW)

WV E3B: .QTBR BT W0ZTIDS BDe8TENTRD), DB 5. 32N 3,00

Qdyori-1
Gt T0 ADIYTB,T DR ST NDRJTZ, F 20T rHL3R.
(09) 2x-1=x + 2 QOWT x = 5. [F]
(es) 4x+3=T+ 2x DOTWT x = 2. [T]
3,2 00T HVSTSRY B8O,
(09) 130 = 4/5(x + 10) 8NZJT x =
£9)30 £3)503 Q) 40 8%)20
eV33 €9)30
(es) 2x-1 = 14-x 8NZT x =
£9)-5 £3)s Q)2 Bs)-2
eV33 e8)s
333 D3 DB 20DO.
(€9) 3x = 2x + 18 QOWT x =
eV33 3x = 2x + 18 Q0BT x = 18.
(es) 5x +9=5+ 3x QOWT x =
V33 5x +9=5+ 3x QOWT x = -2.
8 BF NI JogmmeN euB0R.
D)3, 4 (x-2)+(x-3)+(x-9)=0A8.
V33 (x-2)+(x-3)+(x-9)=0

X+x+x-2-3-9=0

3x-5-9=0

3x-14=0




A
N/"

x=14/3

503325mb 4: 3 ODTIBTOS & 18 0T @@mﬁd, B8 ﬁo&%ﬁ%’aﬂ& DR3B.

4x - 3x =18

x =18

4x = 4 x 18 = 72

3x = 3x18 = 54

72 DB 54 Josderiwonas.

QYN - 3

B @3,19r Foggmon eV,

2eBDO 5x+7/2=3/2x-14.

S|l
WG| oo,
()}

8 VBT3B, QTR HADY 2 Bod MHedd
2(5x+7/2=3/2x-14)
(2x5x)+(2x7/2)=(2x3/2x)-(2x14)

10x+7=3x-28

10x-3x=-28-7

7x=-35

X=-5

&L
2
~

BYNS BePINTYRY, BDesTeanwaNSOB3E.
L 200m Josir 3 FedDITS 11 8rHST.

I X @) 7 Sosdod 2 Be) 13 B8NS

V33

I X+3 =1

. 2(x+7)=13




AR
(e

Ne Y




